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Eﬁg TREOBEBOSILHOKRES ITREOHBEEILNOKRES TEFEOBEBOEILHOKRES ITWEOHBSEILADKRES
R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00{0.00 ~ 1.19 117.97|3m%x#B25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.79 ~ 14.99 117.97|3m%E#B 25 =l ~ - - =
s 1.00{1.19 ~ 8.97 100.00f Z=hki4t | 0.00 ~ 8.97| 2.08 11.14 s 1.00f 5.00 ~ 10.79 100.00f Zhl4t | 5.00 ~ 1499 2.08 11.14
3 100kN/m##8 %% 1.00{ 0.00 ~ 0.64 109.53| 3m%*x#B 25 ol ~ = = —| 100kN/mM%#8Z % 1.00{ 11.13 ~ 12.99 109.53| 3m%x#B 25 =l ~ - - =
s 1.00/0.64 ~ 843 100.00f Z=hkl4t | 0.00 ~ 8.43| 237 12.68 s 1.00f 500 ~ 11.13 100.00f Z=hkl4t | 5.00 ~ 1299 2.37 12.68
4 100kN/m##8 %% 1.00{ 0.00 ~ 3.18 150.81|3m%x# %% 0.00 ~ 0.10[ 3.05 16.33| 100kN/m#%#8 2% 1.00{ 10.53 ~ 28.99 150.81|3m%x#% 5| 25.00 ~ 28.99| 3.05 16.33
s 1.00] 3.18 ~ 10.96 100.00f Z=hl4t | 0.10 ~ 10.96] 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
5 100kN/m##8 %% 1.00{0.00 ~ 282 144.66| 3m%x#B2 5 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.84 ~ 30.40 144.66| 3m%x{B 25 =l ~ - - =
s 1.00] 2.82 ~ 10.61 100.00f Z=hLi4t | 0.00 ~ 10.61] 2.99 16.02 s 1.00f 5.00 ~ 10.84 100.00f Z=hl4t+ | 5.00 ~ 3040 2.99 16.02
7 100kN/m##8 %% 1.00{ 0.00 ~ 2.08 132.24|3m%x# %% 0.00 ~ 1.48| 3.57 19.09| 100kN/m#%#8 2% 1.00{ 1269 ~ 68.78 132.24| 3m%#% %| 40.00 ~ 68.78| 3.57 19.09
s 1.00{ 2.08 ~ 9.87 100.00| #+list | 1.48 ~ 9.87| 3.00 16.05 s 1.00f 500 ~ 12.69 100.00f Z=hl4t+ | 5.00 ~ 40.00f 3.00 16.05
9 100kN/m##8 %% 1.00|0.00 ~ 2.01 131.01|3m%# %% 0.00 ~ 0.57| 3.23 17.29| 100kN/m#%#B 2% 1.00| 1269 ~ 41.64 131.01|3m%#% %] 40.00 ~ 41.64| 3.23 17.29
s 1.00{2.01 ~ 9.79 100.00f Zh 4t | 0.57 ~ 9.79] 3.00 16.05 s 1.00f 500 ~ 12.69 100.00f Z=hl4t | 5.00 ~ 40.00( 3.00 16.05
10 100kN/m##8 %% 1.00{0.00 ~ 1.97 130.40| 3m%*#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 1269 ~ 38.17 130.40| 3m%x#B 25 =l ~ - - =
s 1.00{1.97 ~ 9.75 100.00f Z=hki4t |0.00 ~ 9.75| 2.79 14.92 st 1.00f 500 ~ 12.69 100.00f Z=hl4t+ | 5.00 ~ 38.17| 2.79 14.92
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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